§ Cnosxenue 10 20 (110 ropu30HTaIH)

Wms: Jlata: _ Orenka:
14+13 = 18 +13 =
4+13 = 2+10=
7+8= 17+19 =
20+ 11 = 2+18 =
1+20= 8+ 10 =
11+7= 6+2=
10+9= 13+5=
14+18 = 9+7=
3416 = 1+9=
15+17 = 0+4=

www.snowmath.com


https://www.snowmath.com

EREYY

Crnoxenue 10 20 (TI0 TOPU30HTAIIH )

Nwms:

14+ 13 =127

4+13=17

T+8=15

20+ 11 =31

1+20=21

11+7=18

10+9=19

14+ 18 = 32

3+16=19

15+17=32

18 +13 =31

2+10=12

17+ 19 = 36

2+18=120

8+10=18

6+2=28

13+5=18

9+7=16

1+9=10

9+4=13

www.snowmath.com

Orenka:


https://www.snowmath.com

